EARAROBEEIERT — 2 N— IBISH —F

20165E8H290 (B) 4EIKR6H

m C2X# 5% —M (w8 | 1mEmml - |5 6) v s
[A&4£] 1 7% :100,000  ~ 23#&:20,000”  33%&:10,000 M  43#&:7,000H ~ 53 :3,000H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N N EATE : -1-1- — FESF KR
AN VA S D i3 | B 1.(3_1).3 1-1-1-1 | 39.8 1 (4_617) %%%3@( )
L4 a BXLATRCF N 45035
I AR :32. -3-0- 4| - BB (kiR)
N BTy B4 ax 1(372)4 3-3-2-2 | 40.4 2 (4_3“2) Sl
L:TANVRTy s BIRLIARY—L4 BF ®it
— . Ryl . —-D-3— — TEE= (BRE
ARZATH-I o4 | BXE 1.(3{3.7 2-2-3-3 | 41.8 5 ;4_337) P
XY= hR—a B:NIX* 772 Nius
) it 3 | AEE 1:34.1 4-6-4-4 | 41.5| — 6 425 | RIIRE (KiR)
<3Ny E A51.0 (2 1/2) (-9) KEEETF ’
R:TFyIa%S—F BUSRLASLRY—X w2 3T
S 4 6 | BAHE 1:34.1 7-7-6-5 | 41.2| — 3 438 | FEFZ= (BERE)
1TN=FrTad £252.0 (7€) -3) S
A xNTT BRKF17T A HFE
o, P BERRE : 56— = FHESF (KR
H4LTTLZ B 5 " 1.((138).8 6-5-6-6 | 43.4 7 (4_630) ;gg;ﬁfgm
R:T7TFEF BT H—%py b FARHS
o 4 6 | PIEBERMER 1:36.7 5-4-4-6 |44.2| — 4 467 | HEEE (KR)
7155 EPLNERZ 56.0 ® o |EmER
LT GNRTy b BTy FRY—L NYEPTT =L
® I —F—EBIERL
13—7+— 1,6,7,4,5,2,3
A== 1,6,7,5,2,4,3
Jol=5r= 1,7,6,(4,5),(2,3)
43—7+— |[1,7,6,4,3,(2,5)
[ N3
BB 1 1004 714K 1-7 140H B = 1-7 190H 3EHE 1-6-7 880M
8 B 1 1004 1-6 430M B H 1-7 190H K31 1-7-6 1,560M
7 150/ 6-7 780M

ABICOVWTRDTEEERROODE. TR LIV,




